
9 Handle bar assembly8 Central sheath assembly7 Back cover assembly6 Handle seat assembly5 Supporting seat assembly4 Right wheel assembly3 Left wheel assembly2 Engine assembly (WM170F-2)1 Gear box assembly



Item no. Code Chinese name Qty Material Note Nº Fig. English name20 Standard spring gasket 819 1 type hexangular nut M817 Bumper16 1 type non-metal hexangular lock nut M815 168 gasoline engine connection plate B14 168 gasoline engine connection plate A13 168 gasoline engine cover12 Ourside cover assembly11 Flat key 4.78X4.78X2010 Hexangular flange side bolt (small series)M8X358 Gear box and flange box gasket7 Double screw bolt bm- 2d A M8X326 Round small cushion sheath4 168 gasoline engine U type supporting frame3 Flange plate2 Engine side cover and flange plate box gasket1 170F-2 gasoline engine59
18

Hexangular flange side bolt (enlarged series)  B class M6X50 
Hexangular flange side bolt (enlarged series)  B class M8X40 
Hexangular flange side bolt (enlarged series)   B class M8X25



Item no. Code Chinese name Qty Material Note Item No. English name78 Hextangular bolt all screw thread C class M5X1277 Wire clip76 Non-metal hexangular flange side lock nut M1075 1 Type all metal hexangular lock nut M874 Gear shifting indication plate73 Cushion sheath72 Vertical pipe71 Hextangular bolt C class M10X8070 Vertical position seat69 Fix cover and gear box gasket68 Gear box and back cover box gasket67 Lock bolt M8X1566 Cyindrical pin A type 6X2065 PTO straight gear C64 1 type non-metal hexangular lock nut M1263 Flat gasket C class 1262 Wheel flange plate61 Aluminum flat gasket 1460 Double screw bolt M8 [42X16X16]59 1 type hexangular nut M858 Clutch fork shaft57 Clutch fork  56 Split circlip 955 O type rubber seal 8.75X1.954 Shaft spring circlip A type 1453 Hexangular plug screw M14X1.5X1252 Clutch fork shaft bush51 Top cover50 Pressure release dipstick49 Split circlip 648 Position restriction rubber wheel47 Spring arm46 Top cover seal gasket45 Gear straight gears C44 Gear straight gears B43 Double screw bolt bm = 2d A M8X2042 Double screw bolt bm = 2d A M8X5541 Double screw bolt bm = 2d A M8X4540 Fix cover  39 Reverse gear arm38 Standard elastic gasket 637 Hexangular bolt screw C class M6X1236 The shifting block35 Reverse gear fork34 Elastic cylindrical pin, rolling, standard type 6X2633 Worm A32 PTO straight gear B31 Worm shaft A30 Worm gear A29 Gear box  28 Reverse gear spring27 Worm gear shaft bush A26 Normal flat key A type 6X2225 Gasket 51.8X42X124 Gasket 51.8X42X0.123 Deep groove ball bearing 620522 Lip seal FB type 14X22X521 Lip seal FB type 25X52X720 Hole elastic circlip A type 52X219 Transition sheath18 1 type hexangular nut C class M817 Gear position shaft16 Steel ball 11.906 G100 b GB/T 308-200215 Gear position press spring14 Gear position sheath13 Gear shifting rod A12 Hexangular bolt all screw thread C class M8X3011 Gear shifting rod press spring10 Gear shifting rod B9 handble8 Gear position hinge7 1 type non-metal hexangular lock nut M86 Clutch cable seat5 Standard elastic gasket 84 1100 clutch cable active seat3 Flat gasket C class 82 Deep groove ball bearing 62021 Double screw bolt bm = 1. 25d A M10X25

79 Spring cylindrical pin, straight groove, light type 3X22



Item no. Code Chinese name Qty Material Note Item No. English name44 Split circlip 1243 O type rubber seal 11.2X1.842 PTO fork shaft41 Spring cylindrical pin, straight groove, light type 4X2240 PTO control rod A39 PTO hinge B38 PTO control rod B37 Handle36 PTO hinge A35 Split pin A type 3.2X1434 PTO switch arm press spring33 Shaft elastic circlip A type 1432 Double screw bolt bm = 2d A M8X2031 Back cover30 1 type hexangular nut C class M1229 Flat gasket C class 1228 Double screw bolt bm = 2d A M12X3227 PTO output head cover26 Standard elastic gasket 1225 Standard elastic gasket 824 1 type non-metal hexangular lock nut M823 Straight gear main shaft A22 Shaft elastic circlip B type 30X1.221 PTO shaft20 Deep groove ball bearing 1600619 Deep groove ball bearing 630218 Screw thread cylindrical pin 6X2217 The shifting block16 PTO fork arm15 Hole elastic circlip A type 5514 Connection shaft sleeve press spring13 PTO straight gears A12 Connection shaft sleeve  11 Lip seal FB type 38X55X8 (NBR)10 Lip seal FB type 14X22X5 (NBR)9 Pressing ourside circle roller needle bearing H K 1216108 Idler wheel mounting arm7 Idler wheel  6 Gasket 24X12X15 Idler shaft4 Hexangular bolt all screw thread C class M10X303 Flat gasket C class 102 Elastic cylindrical pin, rolling, standard type 4X241 Steel ball 6.35 G100 b GB/T 308-2002



  Central sheath assemblyItem no. Code Chinese name Qty Material Note Item No. English name14 Small separation spring13 Friction plate12 Adjusting gasket 20X30X1.411 Shaft elastic circlip A type 2010 Gasket sheath9 Push ball shaft bearing 512048 Pressing plate7 Steel slice6 Friction slice5 Seperation spring4 Gasket 30.2X38X1.53 Spline sleeve2 Central sheath1 Deep groove ball bearing 6006



扶手座总成  Handle seat assemblyItem no. Code Chinese name Qty Material Note Item No. English name22 Round shape small cushion sheath21 1 Type non-metal hexangular lock nut M820 Hexangular bolt all screw thread C class M8X3519 Hexangular bolt C class M10X10018 1 Type non-metal hexangular lock nut M1017 Internal hexangular cylindrical fastening bolt M8X1016 Hexangular bolt C class M12X9015 Flat gasket C class 1214 1 type all metal hexangular lock nut M1213 Non-metal hexangular flange side lock nut M812 Restriction position plate11 Torsion spring10 Height handle bar9 Height adjusting handle bar8 Handle seat7 Restriction position plate6 Wire hoop5 Transfer pressing spring4 Transfer protrude tongue 3 Vertical pipe lock pin2 U type double screw  1 Handle seat cover



Handle assembly Item no. Code Chinese name Qty Material Note Item No. English name19 Normally disengaged clutch cable18 Handle turning cable17 Throttle cable16 Reverse gear cable15 Engine flame out cable14 MF type throttle switch (Φ25 perforation mounting)13 2 generation lock handle12 Φ25 cable clip11 Φ25 shock absorption handle rubber cover10 Transfer position pin9 Angle adjusting handle8 1 type non-metal hexangular lock nut M87 Reverse gear C type pin6 Elastic cylindrical pin, straight groove, light type 4X205 Reverse gear switch bush4 Hexangular bolt C class M8X603 Reverse gear switch  2 Flat gasket C class 81 Handle bar 



Handle assembly Item no. Code Chinese name Qty Material Note Item No. English name19 Normally disengaged clutch cable18 Handle turning cable17 Throttle cable16 Reverse gear cable15 Engine flame out cable14 MF type throttle switch (Φ25 perforation mounting)13 2 generation lock handle12 Φ25 cable clip11 Φ25 shock absorption handle rubber cover10 Transfer position pin9 Angle adjusting handle8 1 type non-metal hexangular lock nut M87 Reverse gear C type pin6 Elastic cylindrical pin, straight groove, light type 4X205 Reverse gear switch bush4 Hexangular bolt C class M8X603 Reverse gear switch  2 Flat gasket C class 81 Handle bar 


